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PAPER-3

Aptitude Test for Architecture & Design

Mathematics & Aesthetic Sensitivity — Part A

Drawing Aptitude

PART-A / H{TT-A

MATHEMATICS & AESTHETIC SENSITIVITY / TUTd R UTEATeeh HTGaet

Q. 1to 100

PartB @ € 1&2

01. Let a, b, ¢ and d be non-zero numbers. If the point | 01. AR 4, b, c AA 4 I HEAW 3| AR @
of intersection of the lines 4ax + 2ay + ¢ = 0 and 4ax + 2ay + ¢ = 0 AT Shx + 2by + d = O T&A
Sbx + 2by + d = 0 lies in the fourth quadrant 1 Tfdeaed %Ru =Y 91g (fourth quadrant) T3
and is equidistant from the two axes then 3 AT O SR f;f[ W g, qd
(A) 2bc—3ad=0  (B) 2bc+3ad=0 (A) 2bc—3ad=0  (B) 2bc+3ad=0
(C) 3bc—2ad=0 (D) 3bc+2ad=0 (C) 3bc—2ad=0 (D) 3bc+2ad=0

02.  The lines p(p> + )x — y + ¢ = 0 and | 2. afz Y@@ p@E> + x — y + q = 0 A=
P>+ 1> x + (p>+ 1) y + 2q = 0 are P2+ 12x+ P2+ 1)y +2q=0 5
perpendicular to a common line for @ W erEgd g2l
(A) No value of p (A) p%h" frell o9 & o =@
(B) exactly one value of p (B) p% Had UH HE & ol
(C) Exactly two values of p (C) p % had @ HE & fAd
(D) More than two values of p D) p% & H e gHl & o

3-AA | [2] | Contd...
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03. Let C be the circle with the centre at (1 ,1) and | ¢3. qHT C < fé[% (1,1) e B = 1 97 w6 el %%

= I

radius = 1. If T is the circle centred at (0, y), 8l AT TUH 3 g0 & e 5 (0, y) B 3N @%

ing th h origi d touching the circl o1 R

passing through origin and touching the circle I C T Hd g YA g (origin) ¥ R ;m%fé

externally, then the radius of T is equal to. TSIl 3, a9 T $1 B ster 2- %%

/3 /3 /3 3 P

( A) it (B] 1 A i, B .-"II o ::‘Itl‘“’::;j?:

o) vV (A) ) (B) V9 %g%

1 1 1 1 e

© 3 D) § © % ) 1 s

04. The circle passing through (1, —-2) and touching | (4. Ife e Eil fé[:&') (1, —2) ¥ ToRAT g a1 x - &
the axis of x at (3, 0), also passes through the ® fog (3, 0) W w9 a1 B, 98 = foRaa
point fog | o Tom-

(A) (2, —0) (B) (5, -2) (A).(2, =5) B) (5, -2)
©) (-2, 5) (D) (-5, 2) (C) (-2, 5) (D) (-5, 2)

05. Let O be the vertex and Q be any point on | (5, OHET G&ed x2 = Syﬁ’rﬂ'ﬂ L (vertex) O W Q
parabola, x2 = 8y. If the point P divides the line CIE fé% 2| Al HIe %Fg P T@ME@YE PQ
segment OQ internally in the ration 1:3, then =S 13 I A fowfog sar &, @9 P
the locus of P is I fél:g qy 2
(R)y*=x (B) »* =2 (A))? = x (B) »? = 2x
(C) 2 = 2 D) x* =y (C) x* = 2y (D) x* =y

06. A parabola has the origin as its focus and the line | 6. Ush WIAd hl ATH (focus) Ha%@ (origin) X
x = 2 as the directrix, Then the vertex of the 2 do1 sHehl 94T (directrix) @1 x = 2 8l a9
parabola is at WIAT T IS (vertex) BAT-

(A) (0, 2) (B) (1, 0) (A) (0, 2) (B) (1, 0)
€ ©, 1) (D) (2, 0) (C) (0, 1) (D) (2, 0)

07.  The eccentricity of an ellipse, with its | 07. 3G wh FEaa (ellipse) S g HaAfg
centre at the origin is %, if one of the (origin) 2, 1 faegan (eccentricity)% 2
directrices 1s x = 4, then the equation of the GEIERERRIE] (directrices) 9 Uk HIar «x
ellipse is =4 g, q9 <Egd & THiEw g
(A) 3x2+4y2=1 (B) 3x2+4y%=12 (A) 3x2+42=1 (B) 3x%+42=12
(C) 4x2+3y2=12 (D) 4x2+4y%=1 (C) 4x2+3y2=12 (D) 4x2+4y%=1

3-AA | [3] | P.T.O.
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08. If 8iz> + 1222 — 18z + 27 i = 0, then the | 08. AR 8iz> + 1222 — 18z + 27 i = 0, then |z|
value of |z| 1s H TH B
3 2 3 2
(A) 5 B) 3 (A) 5 B) 7
3 3
(©) 1 D) () 1 D) 4
6i =3¢ 1 6: —3i 1
09. If | 4 3i—1|=x+ iy then 09. A |4 3 —1|=x+ iy,
20 3 4 20 3 ¢
(A) x=3, y=1 (B) x=1, y=3 (A) x=3, y=1 (B) x=1, y=3
(C) x=0, y=3 (D) x=0, y=0 (C) x=0, y=3 (D) x=0, y=0
10. If one root of the equation x>~Ax+12=0 is even | 10. AT T x2—Ax+12=0 I Th el -3
prime while x2+Ax+p=0 has equal roots, then (even prime) 2, 99 o5 Teieno x2+ix+p=0
p is equal to % A S 8, a9 p S &
(A) 8 (B) 16 (A) 8 (B) 16
(C) 24 (D) 32 (C) 24 (D) 32
11. The value of P such that the difference of the roots | 11. FHRT x2-Px+8=0 % HAl 1 IR 2 7,
of the equation x2—Px+8=0 is 2, is — d9 P & OH &8-
(A) £3 (B) 6 (A) £3 (B) *6
(C) +2 (D) 1 (C) £2 (D) =1
12. The minimum value of the expression 3* + 31, | 12. F|SFH 3 + 31 x e R ®T FAdH HHA
xeR is 2
1 1
(A) 0 (B) 3 (A) 0 B) 3
(C) 3 (D) 2v3 (C) 3 (D) 243
13: If x, v and z are positive integers, then the value | 13. qfg  x, v IRz EHTHS W g, @@
of {(x +)+z)z + x) 15 x + )y + 2)(z + x) B HA 2
(A) 8xyz (B) =8x)z (A) 8xyz (B) >8xyz
(C) <8xyz (D) 4xyz (C) <8xyz (D) 4xyz
3-AA | [ 4] | Contd...
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14. The sum of the series ]+—%—+%+%+-- 1s 14. 1+ 73T+%+%+-- guft w1 AT B- %%
CTRATRD
(A)e(e + 1) (B) e(e — 1) (A)e(e + 1) (B) e(e — 1) WA
(©) e(l — ¢ (D) e (€) e(l —¢) (D) e sy
i
i : L , )2 3
15, The coefficient of x in the series 15. At 1+ a-ll-TEu? + (a -;'fu“) (a -E'EJ:E) 4 %%%
1+u,+.£u:+(a+m¢}2+(a+b¢r)’*+ . , 3 ' ' %’Lﬁ%
I 21 gr T s H xR Sy
(ab) da ) i
(A) T B " ) 2 B) it
2hah" Enlb(ﬂrb) " Lo pLm " ) ab)”
©) S D)~ - ©) &P () £\ab)
16.  The number of terms in the expression of | 16. &5 (1 +5 v22)19 + (1 -5 /22)199H wey
1+5 V26)9 + (1 =5 V22)19 is H T @
(A) 10 (B) 7 (A) 10 (B) 7
(C) 13 (D) 15 (C) 13 (D) 15
57 4 If A and B are 3 x3 matrices such that | 17. Je A I B U YR hl 3x3 FH 38 &
A? — B? = (A — B)(A + B), then A2 - B2=(A - B)(A + B), T
(A) either A or B is zero matrix (A) I1 a1 AT B TeYE (zero matrix) 2
(B) either A or B is unit matrix (B) AT a1 AT B U ATSYE (unit matrix) H
(C)A=B C)A=B
(D) AB = BA (D) AB = BA
18. If px* + g3 + 2 + sx + t= 18. afe px* + g + e + sx + t=
F—3 =1 3 g=dr w—1 &+3|
r+1 —2x x—4|wherep,q, 1, s andt r+1 —2r x—4|98 p,q,r, s dAqt
T—3 ke o 3z r—3 r+4 3
are constants, then t is equal to AU 8, 99 t oUs B
(A) 0 (B) 1 (A) 0 (B) 1
(C) -1 (D) 2 (C) -1 (D) 2
19. If A= {1, 2, 3} and B = {3, 6, 8} then 19. Jfe A= {1,2, 3} 991 B = {3, 6, 8} B, @«
(ANB)XA is (ANB)XA B:
(A) {(1, 3), (2, 3), (3, 3); (A) {(1, 3), (2, 3), (3, 3)}
(B) {3, 1), 3, 2), (3, 3); B) {3, 1), G, 2), (3, 3)}
(©) (1, 3), B, 1), (3, 2); €) {(1, 3), B3, 1), (3, 2)}
(D) None of these (D)SIH H I3 A8l
3-AA | [5] | P.T.O.
gcollegedunlaé
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20.  The mapping f:N—N given by flx)=1+x2, xeN | 20.  Ifdfeor f:N-N 39 IR & & flx)=1+x2 xeN
where N is the set of natural numbers, then f(x) is &l N H’@ﬁl &Il I HY== %, ddl f(x) B
(A) One-one and onto ) R h
(B) Onto but not one-one (B) 3T=BleHh ifhd Teheh &l
(C) One-one but not onto (C) Q%E GIET] ABEH T8l
(D) Neither one-one nor onto
(D) & Uhkh R T & A<SEH
21. Let R be the relation on the set R of all real | 21. aH o B araTias §@sd gz R W
numbers, ‘defingd by oREALE (=4 < 1. Then FIE T RR S aRbiff o - b <1 W
gfemfeg 81 @9 R B-
R is
(A) ad TEded  (Reflexive) AT FHIHA
(A) Reflexive and symmetric only (symmetric)
(B) Reflexive and transitive only (B) e Taded (Reflexive) TAT HhHS
(transitive)
(C) Equivalence
(C) ded HHe-Y  (Equivalence relation)
(D) None of these (D) =i g ?m’:lé AT
22. If the three angles of a quadrilateral are 60°, 22. 'ﬂﬁ 60°, 608 dT 5% Ifeag Tt ?ﬂjﬂﬁ & dF
60% and %T radian. Then, the fourth angle i1s HIU B, qE IGHT AT BT 8:
(A) 60° (B) 96° (A) 60° (B) 96°
(C) 968 (D) None of these (C) 968 (D) 99 H Hig A&l
23, The number of roots of the equation | 23. ST (—%,%)ﬁﬂfﬂﬁ?{w BSiHEFSCUar%H\Eﬁ
3sin?x=8cosx in (—%%) 1S & TE %:
(A) 1 (B) 2 (A) 1 (B 2
(C) 3 (D) 4 (€) 3 (D) 4
24. If x + % = 2, then the principal value of sin"lx | 24. afe x + % = 2, @@ sinlx 1 &I HA
is (principal value) &:
(A) & B) 5 (A) & B) T
o 3
©) 7 (D) 5 ©) 7 (D) =5
3-AA | [ 6] | Contd...
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25. In AABC, if the sides are a=3, b=5 and ¢c=4, | 25, faysl AABC #, a2 3 Y& a=3, b=5 A ame
then 5'.1'11;E + {:c:rsE equal to =4 3., d9 sinE 38 gggﬁ e 2 %%%
2 2 — C ? 2 D) w%
(A) V2 (B) ";5;1 (A) V2 (B) ﬁ;l .;%;%
.~ ¥3-—1 _ /3—1 AR
©) —3 (D) 1 €) 5 (D) 1 Spel
o
26. The area bounded by the curves x + 2|y = 1 | 26. FHl x + 2y = 1 A x = 0 g UNEg %é
and x = 0 1is PRI %%
L ®) 1 (A) ¢ B) 3
(C) 1 (D) 2 (0) 1 (D) 2
27.  The line x + y = 4 divides the line joining | 27. Y@ x +y =4 grfergall (1, 1) q (5, 7) A
the points (-1, 1) and (5, 7) in the ratio STeA aTefl @1 Wl fauIieid s 1 I @
(A) 2:] (B) 1:3 (A) 2:1 (B): I3
() 1:2 (D) None of these (C) 1:2 (D) H ® s &I
28. The cartesian equation of the curves | 28. bl x =7 + 4cosoc AU y = -3 + 4sincc Bl
x =7+ 4cosc and y = -3 + 4sinoc is FIeioET g 2@:
A)x2+32 - 14+ 6y +42 =0 (A)x2 + 2 — ld4x + 6y + 42 = 0
(B)x* + y2 — 6x + 14y + 21 =0 B)x2 + 32 —6x + 14y + 21 =0
(C)x* +y* — 10x + 12y + 28 =0 O x2+3y2 - 10x + 12y + 28 = 0
(D) None of these (D)S® ° His &l
29, How many tangents can be drawn from the point | 29.  gd x2+ )2 - 8x— 6y +9 =0 foFg (3, 2) ¥
(3, -2) to the circle x> + 32— 8x — 6y + 9 =0 ? foral w9l W@ @it S g@dl 87
(A) 2 (B) 1 (A) 2 (B) 1
(C) 0 (D) None of these (C) 0 (D) $H H s &l
30. If P is a point on the ellipse %+§—5= I | 30. Ifg E{Tﬁgﬂ %+%= | W $E ﬁl% P 2 3R
whose foci are S and S!, then PS+PS! is fﬂifﬁ?l &1 Ayt (foci) S dgr S! %, GE
equal to PS+PS! &:
(A) 8 (B) 7 (A) 8 (B) 7
(C) 5 (D) 10 (C) 5 (D) 10
3-AA | [ 7] | P.T.O.
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31. The curve described parametrically by x=t>+t+1, | 31. YrETfelsh  ash (parametric curve) x=t>+t+1,
y=t2—t+1 represent y=t2—t+1 yefiid +al @
(A) a pair of straight lines (A) WA WH
(B) an ellipse (B) TH ErEed
(C) a parabola (C) Ush Yidoid
(D) a hyperbola (D) U& Afdege™
32. }ﬂr} [x—1], where [ ] denotes the greatest integer | 32. 111_1:&1 [x—1] ST B, W@l [ ] Ha<H fi‘j'l'h—'n Beld
function, is equal to &I fefud %—
(A) 1 (B) 2 (A) 1 (B) 2
(C) 0 (D) Does not exist (C) 0 (D) 3fedea # & @
33. If f(x)= 33:+$an2:r,' is continuous at x=0 then f{0) | 33. Ife flx)= 3r+;anzr , x=0 9 Hdd %, ad f(0)
is equal to TR 3:
(A) 3 (B) 2 (A) 3 (B) 2
(€) 4 (D) 0 (€) 4 (D) 0
34.  The derivative of y=(1-x)(2-x)3-x)-(n-x) | 34.  y=(1-x)2-x)(3-x)—-(n—x) H x=1 W x &
with respect to x at x=1 is ge] g (derivative) a:
(A) 0 (B) (1(@n-1)! (A) 0 (B) 1@-1)!
(C) n!-1 (D) (n+1)! (0 =1 (D) (n+1)!
35, If x=a(0 +sinf) and y=a(1—cos @), then % is | 35. AR x=a(f+sinf) A y=a(l-cosf) T %
equal to T B
(A) tan % (B) cot % (A) tan % (B) cot %
(C) tan @ (D) cotf (C) tan 0 (D) cotf
36. If the surface area of a sphere of radius r 1s | 36. e uh gd SEehl &=+ 8 & 98 (surface)
increasing uniformly at the rate 8cm?/s, then gcm?/s Sl THM & H 9 W@ 8, a9 36k TR
the rate of change of its volume is (volume) % WREdH =l g 2:
(A) Constant (A) ufEa 3fid
(B) Proportional to 1/r (B) ]? =+ Bq'g’ql?ﬁ
(C) Proportional to 72 C) 2 ST
(D) Proportional to » (D) r & ?Fljcl'l?ﬁ
3-AA | [8] | Contd...
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37.  The maximum value of fix)= 5% is 3. -2 @ wEm AW R
(A) 1 B) = (A) 1 B) =
(©) e D) + (©) e D) +

() . : () . |

38. If [ logsinx dx =log log sinx, then f(x) is | 38. fg flujgtsin:rdx =log log sinx, dd f(x) STeX
equal to B
(A) sinx (B) cosx (A) sinx (B) cosx
(C) tanx (D) cotx (C) tanx (D) cotx

9. af [ 8t L g pcosx+k wherek | 39. AR [ CoSBTE L4 A cosgx+k, TR

) cot 2x — tan2x ’ o J cot2r—tan2r ’

is an arbitrary constant, then A is equal to &l [9Idi® (constant) 8, a9 A S &:
(A) —15 B) 1 (A) —15 B) +
©) % D) -3 ©) % D) —%

40.  1f P= [ “f(cos?x)dx and Q= [ f(cos?)dr, | 40. AR P= [ f(cos?x)dx T Q= [ f(cosPx)d
then GE]
AP-Q=0 (B) P-2Q =0 AP-Q=0 (B) P-2Q0=0
C)P-3Q=0 (D) P-5Q=0 CO)P-3Q=0 (D) P-5Q=0

41. Area of the region lying between the line | 41. W x—y+2=0707d b x= 4y % g 1M
x----y-f-2=Oandthﬁcurvex=g’@,is El'l@é‘ﬁ':lﬂé‘:l"ih_c{%
(A) 9 ®B) 5 (A) 9 ®) 3
© 5 (D) None € 5 (D) T T

42, The order of the differential equation whose | 42. forelt 37asho @Rt (differential equation)
general solution is given by y=(c,+c,) cos(x+c;) feht =9 & (general solution) y=(c 1 7¢5)
~c,e*"% where ¢y, c,, ¢y, ¢4, C5 are arbitrary cos(x+c4) —c,e*"s 3, &l Cy» €y, Cqy C4 T
constant, is s fads (constant) &, hi hife (order) ®:
(A) S (B) 4 (A) S (B) 4
€3 (D) 2 (€3 (D) 2

3-AA | [9] | P.T.O.
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43. The solution of differential equation 43. Eﬁ Fdehotd FHTRT :g = ab;+% <l BA fepeht
T+
g = §L+% represents a circle, then Ell % frefua (represent) <h{dl g, dd
(A)a =5 (B a = -b (A)a = b (B) a = -b
(C)a = 2b (D) a = -2b (C)a = 2b (D) a = -2b
44, A bag contains 3 red and 3 white balls. Two | 44. T it H 3 A q°1 3 "G TG 8l it ¥ a7
balls are drawn one-by-one. The probability Ueh-Ueh hlch bl ATl 8| 39 7 o 3TeHT-
that they are of different colour, is A T % B H WRHAT (probability) @:
: : . 2
(A) 1o B % (A) 15 B) %
© 3 (D) None © 2 (D) FE T
45, If two events A and B are such that | 45. 3fe 2@ weA”® 3@ w&r ufed Bt & T,
A . A A
O < P(A), P(B) < 1, then P(%) +P(5) is O < P(A), P(B) < 1, T P(5) + P(g) s
equal to 2
(A) 1 B 5 (A) 1 B) 5
(C) % (D) None of these (C) % (D) T # HIE Tl
46. A dice 1s thrown and a card is selected at random | 46. Ueh 9T 3IBTAT ST & qAT 52 AT % T bl U
from a deck of 52 playing cards. The probability Y UH U1 TR fehen S 2| 9 W gd
of getting an even number on the dice and a spade T 37 37 a9 < T & gPH (spade) =pT Tl
card is 3 & iRreRar (probability) #:
1 1
A) 5 B) + (A) 5 ® +
P . 3 |
© 3§ D) 4 © 3 D) =
47. Three houses are available in a locality. Three | 47. Uch W H 3 HehH 3I9cied &l diF sAfhat e
persons apply for these houses. Each applies Iehl ITEfd A & ol 3Teed fomam 21 9=
for one house without consulting others. The =t 3 fom T{E—@ H g T’ s & mhE
probability that all the three apply for the same % for stragd foean 2, 9w wvft Al 4w &
house, is M & ford Aded T 2 1 wiidekar 2:
(A) § B) 5 (A) § B) 5
2 1
© § ®) § © 2 o 1
3-AA | [10] | Contd...
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48. If the three vectors @, b and ¢ with magnitude | 48. gfg o Afgen g, b qA ¢ TR gimm %{%&%
3, 4 and 5 respectively and @+b+¢ = 0, then HEN: 3,4 T 58 IR G+b+é =0, a9 %Eﬁ%
the value of @.b+b.¢+¢.a is i.b+b.c+¢é.a B WE B %%
(A) -23 (B) -25 (A) =23 (B) -25 %§
(C) 30 (D) 26 (C) 30 (D) 26 %j%%
49, If the non-zero vectors @, b, ¢ are related by | 49. afe G=8b A ¢=-7b dH 3T qfee %{%‘f
@=8band ¢=-7b. Then the angle between %S9 h Ty 8, 99 G dd1 ¢ o o9
a and c is & HIU B
(A) (B) 0 (A) (B) 0
©) I D) 5 iy -+ D) 5
50.  If the position vectors of P,Q. R andSare | 50. af@ 2/+, i—3j, 3(+2) a4 {+ 5 HEA:
20+7, i—37, 3i+2; and i+ respectively PG, R a1 § ™ | (position vectors) ¥
and PQ|RS, then the value of p is M PQIRS, @ p & 99 2
(A) =7 B 7 (A) -7 (B) 7
© -6 (D) 6 () -6 (D) 6
51.  Which of the following Indian Architects was | §1. T YRd™ agerl H fohdeshl 9= Yoo
awarded the Padma Bhushan Award 2020 gHE 2020 feam TRm
(A) Charles Correa (A) el IR
(B) BV Doshi (B) st =& Sef
(C) J. A Stein (C) . W ¥
(D) Hafeez Contractor (D) BIHS Higael
52. Which one of the following is NOT a traffic | 52. = o 9 w7 =9 g f ol w1
speed reducing measure? % fom Yged  al Bl @
(A) Rumble strips (A) Taa g
(B) Roundabouts (B) USSHETHeH
(C) Pedestrian crossings (C) uEifegaa  shrfam
(D) Roadside trees (D) Td &% T9glh US
3-AA | [ 11 ] | P.T.O.
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53.  ECBC stands for 53. ECBC ¥ #I1 ©Hed @
(A) Electrical Conduit in Building Construction (A) sﬁﬁ%m EI—TS\EE g1 fafeen EBF;‘%"ST—T
(B) Energy Conservation Building Code (B) Sl HaEyH fafeen wrs
(C) Electrical Credit in Building Code (C) sifderal @Afehe 3 fafeen =i
(D) Energy Credit in Building Construction (D) S shige 3 fafeen WW:-T
54.  The COA Stands for 54. COA ¥ #I GHed 3
(A) Certificate of Architect (A) H|ifhhe 3MF IhicH
(B) Council of Advocates (B) FH3YA  3F Q@Eh%ﬁ?ﬂ
(C) Council of Accountants 1C) F3YA IMF  IH32H
(D) Council of Architecture (D) HI3HA IH  AThicaed
85 SWOT analysis 1s used for examining a | 55. SWOT fovermu & foreft ufifeafa & smafis
situation’s inherent
(A) Strength, Wastefulness, Opportunity and (A) TIhd, AT, HEHTGATC U wTerh
Tactfulness
(B) Sanction, Weakness, Ownership and Threat (B) W:'Ffﬁl, FA, T T TR
(C) Strength, Weakness, Opportunity and Threat (C) drehd, HHIARI, TFEET Tg @l
(D) Support, Wastefulness, Ownership and
Transparency (D) FIE't‘ﬁ"T, Wﬁ, fyed Q’ﬂ Wﬁﬁﬁl
56. In case of residential apartments, the effective | 56. fard= EIE}CI'E\‘I'E*‘IT Yo d yIm § f I W
floor area available for use within an apartment, gl YWl &Fhd "l R HEd 8
1s known as (A) e
(A) Carpet Area
(B) &A1 B3 &%
(B) Built-up Area
(C) Plinth Area ©) —3?&? s
(D) Super Built-up Area (D) Hrgﬂf 1 Al SRR
57. One Feet equals. 57. U Hie fhas SR BT 87
(A) 30.5 cm (B) 35 cm (A) 30.5 cm (B) 35 cm
(C) 45 cm (D) 15.67 cm (C) 45 cm (D) 15.67 cm
3-AA | [12] | Contd...
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58. How many A2 sheets can be cut from a A0 | 58 Tk A-0 A9 % el 8 fohad A-2 H9 < %%
sdxayen
sheet of paper. FITE FIE I Thd & %ﬁg
&g
AR
A) S B) 4 a8
(A) (B) (A) 5 (B) 4 ;}%,é
(©) 16 (D) 8 (©) 16 (D) 8 it
s
59. The city of Bhubaneswar was planned by 59. 'gaﬁw & I AT TR ATE off %?‘1?
i
(A) Le Corbusier (A) ?wn"l'fif:?@f @%
L)
(B) I M Pic (B) 1€ UH U®
(C) Otto Koningsberger (C) 3MEI HiZHIR
(D) Lui Kahn (D) g§ FTH
60. [dentify the building 60. 29U waq < fafgd =
(A) Sydney Opera House (A) Tusdt T aEE
(B) Bahai house of worship (B) aTs TS T
(C) Guggenheim Museum (C) TfEE duEeE
(D) Temple of Karnak (D) HRAH TN
61. Blue colour is a 6. frem T T
(A) Hot Colour (A) m™oTr R
(B) Cool Colour (B) 38 T 2
(C) Secondary Colour (C) 399 T &
(D) Netural Colour (D) JerH a7 o2
62. Curtain walls represents 62. qa'i HEIREER] 2
(A) Fabric Walls (A) ®US H Fad
(B) Non-load bearing Wall (B) a5 AT &4 drefl dErd
(C) Paper Walls (C) A ! Erard
(D) Concrete Walls (D) hshle i FaTd
3-AA | [13:] | P.T.O.
gcollegedunlaﬁ
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}%ﬁ% 63.  Gopuram is a 63. TIFH TH
%@ (A) Temple (A) HfeT
%%% (B) Gateway to Temple (B) ®fgx T WM &1 WA X
%% (C) Co*.w shed (C) TSI
%@E{;ﬂ (D) Dairy (D) g4t

vvvv

64.
i3 Vi adn ‘ f .
(A) Elephanta Caves (B) Ajanta Caves
(C) Badami Caves (D) Bhimbetaka Caves (C) wremt T (D) fim deh TH
65.  Architect of MP Vidhan Sabha Building is: 65. W YgIw faumEwr & ageRr @
(A) B V Doshi  (B) Le-Corbusier (A) s &t gt (B) =it s
(C) Charles Correa (D) Edwin Lutyens (C) =" =i (D) usfem offeem

66. Identify the structure in the picture 66. g o foo yaq = gg=nf

(A) Big Ben London

(B) Time Tower NY (B) <EH TR .-ei\qp;g-,
(C) Sears Towers, NY (C) fomd e '*Lq'“i:’
(D) Rajabai Tower, Mumbai (D) TSATETE <R d;.q§
67. Brihdeshwar Temple is located in 67. W afer &1 TgM
(A) Bhubneshwar (B) Mahabalipuram (A) YT (B) WelEcl g™
(C) Thanjavur (D) Mathura (C) TR (D) HYU
3-AA | | 14 | | Contd...
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68.  The Sphinx is located in 68. TERAEE H T N
(A) Tokyo (B) Giza (A) zifera (B) Tfi= %ﬁ%@
(C) Syria (D) Dubai (C) i (D) g3 %%
..... %
it
69. [dentify the piece that fits at ? 69. ? % WYHE W H T OB %%
- g@gg
:""2@:#:
? ? i
) .
A/ /71 V1V
4 0 B4 A A E
(a) (b) (c) (d) (a) (b) (c) (d)
(A) A (B) B (A) A (B) B
(C) C (D) D (C) C (D) D

70. Which 1s the correct view from the side of arrow | 70. = & dR H eI W oEEn 2] fafga =

_ =Y S
(a) (bl (a) | (b}
(c) (d) i (<) (d) 1 1
(A) A (B) B (A) A (B) B
(C) C (D) D (C) C (D) D

71. Identify the correct View as indicated by the | 71. a3 &1 i i foom A @& 2] faffa =t

dITOW.

\f \f
—3 1 2 o

(A) A (B) B (A) A (B) B
(€) C (D) D (C) C (D) D
3-AA | [15] | P.T.O.
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Identify the View as indicated by the arrow. 7. g &1 R 1 e A = g fafEa =
Sy S))
—/\- I_/\_I 1 F/\‘:] = = pedd” T fany .L |:/\l:|
(A) A (B) B (A) A (B) B
(€) C (D) D ) C (D) D
Identify the View as indicated by the arrow. 73. o &1 i & foomr A @& g fafa H
15 15
| ] _'I J
(A) A (B) B (A) A (B) B
(C) C (D) D ¢ (D) D
Identify the elevation show by the arrow. 74. foa =1 dt ki foom # =& LD fafga =t
Va2 VA%
(A) A (B) B (A) A B) B
(C) C (D) D 104 & (D) D
The total number of triangles given in the figure | 7s, faz 9 Beeon i d@ sqw
below are
(A) 12 (B) 15 (A) 12 (B) 15
(C) 16 (D) 18 (C) 16 (D) 18
|16 ] | Contd...
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76.  How many surfaces are in the solid object | 76. f § fewm 2@ i wag =@ S
shown below? %%
:n¢ﬂ::"‘r¢:
(A) 10 (B) 8 (A) 10 (B) 8 %,%ﬁ?”
() 9 D) 12 () 9 O 12 %ﬁ%
1T Count the number of edges of the shape T fafta smeer 1 g’ Fam
(A) 15 (B) 18 (A) 15 (B) 18
(C) 20 (D) 22 (C) 20 (D) 22
78. Jantar Mantar was built as a/an 78. S Hat &1 i w1 sro
(A) Place of Tantrik Worship (A) Tt PEINRES |
(B) Observatory (B) Serwe
(C) Shrine (C) Wi
(D) Remembrance (D) T
79.  When folded along doted lines which object | 79.  fim= = fig Y@ = #ied & #1 9 fpam
will the development form?
L B
(A) A (B) B (A) A (B) B
(©) C (D) D (C) C (D) D
3-AA | [17] | P.T.O.
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80.
(A) Stone is wall in Plan (A) TR i dard @E A
(B) Brick wall in elevation (B) 3¢ ! o Tty |
(C) Brick wall in plan (C) 3¢ 6 dad wH |
(D) Stone wall View (D) Y i Farl H g
81. Identify the correct figure which can replace | 81. 3 3ISE HI AW S ? b TIM W3
the question mark from the given choices b
Fiy o iy =ﬁ;i Fa ‘ '
(1) (2) (3) (4) (1) (2) (3) (4)
A | \ o . \ o
T B ? . ta ?
a b c d a b c d
(A) 1 (B) 2 (A) 1 B) 2
(C) 3 (D) 4 (C) 3 (D) 4
82.  Identify the Building §2. QU ¥ad * YgEr-d
(A) Kedarnath Temple (A) HerAg qfew
(B) Kailash Temple (B) hemar Al
(C) Lingaraj Temple (C) o Hfex
(D) Meenakshi Temple (D) Hrreft mfex
3-AA | [ 18] | Contd...
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83. [dentify the number of squares in the given | g3, fgg # I 1 d&g «dU WD
:#::ﬁ?:
problem figure %&g
i
%%%
1 12 14 10 M1 12 14 10 &5
a b c d b c d %g
(A) a (B) b (A) a ® b
(©) ¢ (D) d (C) ¢ (D) d
84. Identify the odd figure out 84. fawm fom = faf=a =f@
a b c d a b c d
(A) a (B) b (A) a (B) b
(C) ¢ (D) d (C) ¢ D) d
85. Identify the Front View of the given problem | 85. T3 &1 ¥ @1 gw@ wg=nfd
figure,
} o X
(©)) (©))
\\x “'—"ff \ — /
ALY YA el oy 4y )
T - ['4{" M ] = ] [T I ] [ ] f"{' 1 S (O — . ] |
a b C d a b c d
(A) a (B) b (A) a B) b
(C) c (D) d (C) ¢ (D) d
86. Brass is an Alloy of 86. dfae o ?T@Gﬁ *l o s 2@
(A) Copper and Steel (A) el qUT drE
(B) Copper and Zinc (B) TEa qAT S
(C) Zinc and Tin (C) w&ar qar fea
(D) Copper with high lead content (D) qear do1 o
3-AA | [19] | P.T.O.
&collegeduniaa

India’s largest Student Review Platform

T



The object will look like from the direction

of the arrow

87. @ g a¥g dr A fom ¥ H foerh

_.'ﬁf';‘zg P i
A o
v i L
(2) _,,z/i,f‘ (b) #,»f”# / (a) “}j (b) _,”i,f
() . (d) /" - 4 - f,x.,u
(A) a (B) b (A) a (B) b
(€)c (D) d (€) ¢ (D) d
88. 88.
(A) Shiva Temple Kanchipuram (A) i@ #fg EFI?ﬁgTH
(B) Natraj Temple (B) U HigT
(C) Konark Sun Temple (C) s g afe
(D) Sun Temple Modhera (D) e }Ef i
89. Identify the fourth problem figure (?) from | 89, = fo (?) & TIH W w1 3MUm
figures
Sl|EENE o]l
(= =] ) ] < Elu'/ ‘
DD DIDID] &
(A) A (B) B (A) A (B) B
(C) C (D) D (C) C (D) D
3-AA | [20] [ Contd...
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90. Identify the view from the arrow side 0(). fag &1 @ & foom ¥ 3 @4 ?’ﬂ%
- = ._l = iEraiieyal
B %%
7 I v s~ I I D o o <1 5
(a) 4 (b) % (a) %%
(@ ' (d) . @ "‘*;%
o
(A)a B) b A)a B 8 o
(E) e D) d (©) ¢ D) d
91. If a cube of sides 8 cm is melted and cubes of | 91. T 8cm o U9 Hl TAT H 4em & fehad
sides 4 cm are made, how many cubes will you - ¥
get?
(A) 4 (B) 8 (A) 4 (B) 8
(C) 2 (D) 16 C) 2 (D) 16
92.  Identify the building 92. Y99 HI UYgHI
&
“%
2%
%
Ci
o
i
v
(A) Kalpataru Apartments (A) <hoYde 3TATEHZ
(B) Kanchanjunga Apartments (B) HITAT  IITCHE
(C) Lodha Apartment (C) el ITTEH
(D) Piramal tower (D) dHe arat
93. Incandescence 1s 93. bl Uch
(A) Light Emission from Hot Body (A) Ush L] 9] g feadt T
(B) Pollution Brightness (B) H&uul $I Tl
(C) Light with Loud Sound (C) a9 a4 & "y USH
(D) None of the above (D) 39H § &g &
3-AA | [21] | P.T.O.
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04, India Habitat Centre is designed by 94, sfear e Gt & feoa =al &
(A) Satish Gujral (A) @A TS
(B) Charles Correa (B) =me® eIt
(C) J A Stein (C) & U I
(D) Raj Rewal (D) T @A
95. V7 concept given by Le Corbusier refers to 05, Sl a,'-@ﬁr@[ Hl V-7 GhoUaT H1 aredd
(A) Neighborhood Planning (A) Efar.ig IECIECI]
(B) Housing Typologies (B) AEE & THR
(C) Modular Design Principle (C) rﬁgﬁr{ fesza & fm
(D) Hierarchy of Roads (D) HSHI HT FATHA
96. Identify the building shown 96.
(A) All Saints Cathedral Prayagraj (A) 3T gd $Ustd, YIS
(B) St Cathedral, Goa (B) dd hIstd, TET
(C) St Aloysius Chapel, Managlore (C) Hd Iy Iud, HAR
(D) Jewish museum, Cochin (D) ‘q‘@ m, EICIC]
97.  Architrave is a 97.  AThIcd FT B
(A) Arch (A) HEE
(B) Ornamental Molding (B) T=mfer Hifesn
(C) Pillar Base (C) T &1 T=enm 9w
(D) Door Opening (D) ZETS Al M
3-AA | [22] | Contd...
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98. Star Rating of an Air Conditioner is determined | g¢g. EIGIGETE| T FH WE e FE H MR %%g
S
by its %%
y its (A) foorelt 1 @ua gaan
A) Power Consumption EpsEe
(A) P (B) forsteft <l g&rem w1 U SR
(B) Energy Efficiency Ratio (C) 38T & <hl &Hal %%
(C) Cooling Capacity (D) FEL hH 2T %}%%
(D) Power of Compressor ?Lf%
99. diEdehlet bl ey WSl qeth %%%
' TR
99, The Highest award for Architecture is (A) ToR=Rt JEh
(A) Pritzker prize (B) o JEHR
(B) Booker Prize (C) THE YEhK
(C) MHgSH}'Sﬂ}’ Prize (D} :ﬁ'a’a Wﬂ
(D) Nobel Prize
100. T 1 9@ @ FFA HE
100. Count the number of edges 'i e
HMEH ,{:’Lﬁ‘“—-ﬁ._,;\ : -h"“"m.,l
< \‘L\\ x j ‘\L ——t
S . &
' (A) 32 (B) 16
(A) 32 (B) 16 (C) 26 (D) 24
(C) 26 (D) 24
3-AA | [23] | P.T.O.
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o SPACE FOR ROUGH WORK / &=al %™ % ford wrg R
st st

3-AA | [24]
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